v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
1 NS: Pdst $8{8EGH0) -11 3 NS: 88 ERHEE(BAC) 13 VP:| 3.61 16.39| Total VP: 14.00 Rank:
EW: S2[E¢ EFEREF(BAC) -13 EW: 5518 s 518(B0) 11 IMP:| 1 23 6
___
# 11 » AQ75 1NS-1-50 Mean: 2SS3 140 40 1 [[|# 12 » Q97 3HE-1 50 Mean: 2CN4 130 40 1
v KJ876 INS-1-50 o0 2852 110 3.0 1 v Q652 4HW-2100 © 4HW-2 100 30 3
* T4 Dif: 0 NS:-2 1NS1 90 3.0 1 * Dif: -50 NS:2 4HW-1 50 20 1
& 54 IMP: 0 EW:2 2NE-1 50 20 1 & AT9865 IMP: -2 EW:-3 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NW-1 100 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN-3 -150 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1100 20 3NW-1 100 20 1 v KQJ95 3NS3400 330 3NN5 460 4.0 1
T4 Dif: 0 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: -550 NS:-10 3NN4 430 3.0 1
4.87432 IMP: 0 EW:-2 A 00 2 & KJ3 IMP: -11 EW:-2 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HS4 620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 480 Mean: 4SS6 480 10 5
v A943 4HS4 620 630  4HN5 650 1.0 1 v J3 4SS5450 460 A 00 2
.6 Dif: 0 NS:0 A 00 2 + AQT8 Dif: 30 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:0 4HS4 620 00 4 & J542 IMP: 1 EW:0 4ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 4SE-150 Mean: 4SXE-1 100 40 1 ||# 18 » K6 5DW5 -400 Mean: 4SS5 650 12.0 1
v J32 4SW-150 -60  4SW-1 50 30 1 v KT765 5DE-150 -80  5DE-1 50 40 1
¢ 98762 Dif: 0 NS:3 4SE-1 50 30 3 ¢ 764 Dif: -450 NS:-8 A 00 2
& QT4 IMP: 0 EW:-3 A 00 2 & J52 IMP: -10 EW:-4 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 | v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 400 Mean: A 00 2 ||# 20 s QJ2 2SE-2 200 Mean: 3SW-3 300 30 1
v KQ6 3NS3400 400 3NS3 400 00 8 v T4 2SW-2200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 0 NS:1  2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: 0 EW:-1 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
2 NS: $J2:3% B (BHO) -8 5 NS: PRIERR FEESR(BAC) 12 VP:| 4.03 15.97 | Total VP: 13.64 Rank:
EW: &l SEBEEIC) -12 EW: fIRE #mzE(BO) 8 IMP:| 12 32 7
___
# 11 » AQ75 1NS190 Mean: 2SS3 140 40 1 [[|# 12 » Q97 5CXN-2 -500 Mean: 2CN4 130 40 1
v KJ876 25S2110 o0 2852 110 3.0 1 v Q652 2CN4130 o 4HW-2 100 30 3
* T4 Dif: -20 NS:3  1NS1 90 3.0 1 * Dif: -630 NS:-11 4HW-1 50 20 1
& 54 IMP: -1 EW:-3 2NE-1 50 20 1 & AT9865 IMP: -12 EW:-4 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W ~ ~ ~ ~ ~ ~~2~1
# 13 » Q97 3NE-1 100 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN3 400 Mean: 2SXE-4 800 10.0 1
v J76 3NE3 -600 20 3NW-1 100 20 1 v KQJ95 3NN3 400 330 3NN5 460 4.0 1
T4 Dif: 700 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: 0 NS:2 3NN4 430 3.0 1
4.87432 IMP: 12 EW:12 A 00 2 & KJ3 IMP: 0 EW:-2 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 72
E ~22~2 a65 E ~~~~~ & A9854
W ~22~2 W o~~~
# 15 & KQJ9 4HN5 650 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 480 Mean: 4SS6 480 10 5
v A943 4HS5 650 630  4HN5 650 1.0 1 v J3 4SS6480 460 A 00 2
.6 Dif: 0 NS:1 A 00 2 + AQT8 Dif: 0 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:-1 4HS4 620 00 4 & J542 IMP: 0 EW:-1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 3SW3 -140 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE5 -150 Mean: 4SS5 650 12.0 1
v J32 4SE-150 -60  4SW-1 50 30 1 v KT765 4SS5650 -80  5DE-1 50 40 1
¢ 98762 Dif: -190 NS:-2 4SE-1 50 30 3 ¢ 764 Dif: -800 NsS:-2 A 00 2
& QT4 IMP: -5 EW:-3 A 00 2 & J52 IMP: -13 EW:-12 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 400 Mean: A 00 2 ||# 20 s QJ2 2SW-1100 Mean: 3SW-3 300 30 1
v KQ6 3NS3400 400 3NS3 400 00 8 v T4 3CS4130 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: -30 NS:-2 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: -1 EW:2 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
3 NS: #48 E BRHEEEEC) 13 1 NS: M5 E{ZH#(B0) 1 VP:| 16.39 : 3.61 Total VP: 32.57 Rank:
EW: 818 #F5HEH0) 11 EW: 2[E3 BEEBAC) 1 IMP:| 23 1 1
___
# 11 » AQ75 1NS-1 50 Mean: 2SS3 140 40 1 [[|# 12 » Q97 3HE-1 -50 Mean: 2CN4 130 40 1
v KJ876 1NS-150 0 2852 110 3.0 1 v Q652 4HW-2-100 © 4HW-2 100 30 3
* T4 Dif: 0 NS:-2 1NS1 90 3.0 1 * Dif: 50 NS:3  4HW-1 50 20 1
& 54 IMP: 0 EW:2 2NE-1 50 20 1 & AT9865 IMP: 2 EW:-2 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2  -500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
FOVABN 4T % ¢V AN 4 K34
N ~1~11 5 N 4~~1~»
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NW-1-100 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN-3 150 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1-100 20 3NW-1 100 20 1 v KQJ95 3NS3 -400 330 3NN5 460 4.0 1
T4 Dif: 0 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: 550 NS:2 3NN4 430 3.0 1
& 87432 IMP: 0 EW:-2 A 00 2 & KJ3 IMP: 11 EW:10 3NS3 400 2.0 1
& 543 N a AK6 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HS4 -620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 -480 Mean: 4SS6 480 10 5
v A943 4HS4 -620 630  4HN5 650 1.0 1 v J3 4SS5 -450 460 A 00 2
.6 Dif: 0 NS:0 A 00 2 + AQT8 Dif: -30 NS:0 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:0 4HS4 620 00 4 & J542 IMP: -1 EW:-1 4SS4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 »KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 4SE-1 -50 Mean: 4SXE-1 100 40 1 ||# 18 » K6 5DW5 400 Mean: 4SS5 650 12.0 1
v J32 4SW-1-50 -60  4SW-1 50 30 1 v KT765 5DE-1-50 -80  5DE-1 50 40 1
¢ 98762 Dif: 0 NS:3 4SE-1 50 30 3 ¢ 764 Dif: 450 NS:4 A 00 2
& QT4 IMP: 0 EW:-3 A 00 2 & J52 IMP: 10 EW:8 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 | v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 -400 Mean: A 00 2 ||# 20 s QJ2 2SE-2 -200 Mean: 3SW-3 300 30 1
v KQ6 3NS3 -400 400  3NS3 400 00 8 v T4 2SW-2 -200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 0 NS:1  2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: 0 EW:-1 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
4 NS: # 5 SIRSEEREO) -5 6 NS: BRskah BREH(BAC) 15 VP:| 4.48 15.52| Total VP: 8.30 Rank:
EW: BlEZ 52 EEIC) -15 EW: HER M{E{xL(BO) 5 IMP:| 10 28 9
___
# 11 » AQ75 2SS-2 -100 Mean: 2SS3 140 40 1 [[|# 12 » Q97 2DS-1-100 Mean: 2CN4 130 40 1
v KJ876 2NE-150 0 2852 110 3.0 1 v Q652 4HW-2100 © 4HW-2 100 30 3
* T4 Dif: -150 NS:-3 1NS1 90 3.0 1 * Dif: -200 NS:-3 4HW-1 50 20 1
& 54 IMP: -4 EW:-2 2NE-1 50 20 1 & AT9865 IMP: -5 EW:-3 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NE-2 200 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN4 430 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1100 20 3NW-1 100 20 1 v KQJ95 2SXE-4 800 330 3NN5 460 4.0 1
T4 Dif: 100 NS:5 3NE-1 100 20 5 ¢ AT65 Dif: -370 NS:3 3NN4 430 3.0 1
4.87432 IMP: 3 EW:-2 A 00 2 & KJ3 IMP: -9 EW:-10 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ ¢ AJ62 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HN4 620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS4 420 Mean: 4SS6 480 10 5
v A943 4HS5 650 630  4HN5 650 1.0 1 v J3 4SS6480 460 A 00 2
.6 Dif: -30 NS:0 A 00 2 + AQT8 Dif: -60 NS:-1 4SS5 450 0.0 1
» KQ98 IMP: -1 EW:-1 4HS4 620 00 4 & J542 IMP: -2 EW:-1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 »KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 3SE3 -140 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE4 -130 Mean: 4SS5 650 12.0 1
v J32 4SE-150 -60  4SW-1 50 30 1 v KT765 5DE5 -400 -80  5DE-1 50 40 1
¢ 98762 Dif: -190 NS:-2 4SE-1 50 30 3 ¢ 764 Dif: 270 NS:2 A 00 2
& QT4 IMP: -5 EW:-3 A 00 2 & J52 IMP: 7 EW:8 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 400 Mean: A 00 2 ||# 20 s QJ2 2NN2 120 Mean: 3SW-3 300 30 1
v KQ6 3NS3400 400 3NS3 400 00 8 v T4 2SW-2200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: -80 NS:-2 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: -2 EW:-1 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 %&(32 57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
5 NS: BRAERE #EsRERC) 12 2 NS: 2125 REE(FOo) -8 VP:| 1597 : 4.03 | Total VP: 24.83 Rank:
EW: {528 ZiFRSEBEO) 8 EW: &g REB(BAC) 1 IMP:| 32 12 3
___
# 11 » AQ75 1NS1-90 Mean: 2SS3 140 40 1 [[|# 12 » Q97 5CXN-2 500 Mean: 2CN4 130 40 1
v KJ876 2SS2-110 o 2852 110 3.0 1 v Q652 2CN4-130 o0 4HW-2 100 30 3
* T4 Dif: 20 NS:3  1NS1 90 3.0 1 * Dif: 630 NS:4 4HW-1 50 20 1
& 54 IMP: 1 EW:-3 2NE-1 50 20 1 & AT9865 IMP: 12 EW:11 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2  -500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
FOVABN 4T % ¢V AN 4 K34
N ~1~11 5 N 4~~1~»
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NE-1-100 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN3 -400 Mean: 2SXE-4 800 10.0 1
v J76 3NE3 600 20 3NW-1 100 20 1 v KQJ95 3NN3 -400 330 3NN5 460 4.0 1
T4 Dif: -700 NS:-12 3NE-1 100 20 5 ¢ AT65 Dif: 0 NS:2 3NN4 430 3.0 1
& 87432 IMP: -12 EW:-2 A 00 2 & KJ3 IMP: 0 EW:-2 3NS3 400 2.0 1
& 543 N a AK6 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ ¢ AJ62 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HN5 -650 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 -480 Mean: 4SS6 480 10 5
v A943 4HS5 -650 630  4HN5 650 1.0 1 v J3 4SS6 -480 460 A 00 2
.6 Dif: 0 NS:1 A 00 2 + AQT8 Dif: 0 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:-1 4HS4 620 00 4 & J542 IMP: 0 EW:-1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 »KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 3SW3 140 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE5 150 Mean: 4SS5 650 12.0 1
v J32 4SE-1-50 -60  4SW-1 50 30 1 v KT765 4SS5 -650 -80  5DE-1 50 40 1
¢ 98762 Dif: 190 NS:3  4SE-1 50 30 3 ¢ 764 Dif: 800 NS:12 A 00 2
& QT4 IMP: 5 EW:2 A 00 2 & J52 IMP: 13 EW:2 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 | v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 -400 Mean: A 00 2 ||# 20 s QJ2 2SW-1-100 Mean: 3SW-3 300 30 1
v KQ6 3NS3 -400 400  3NS3 400 00 8 v T4 3CS4-130 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 30 NS:-2 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP:1 EW:2 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
6 NS: B&7k5A BRIEHERC) 15 4 NS: #EEH 2ImZEBOo) -5 VP:| 15.52 : 4.48 Total VP: 26.66 Rank:
EW: JF)F,QM,\ MEBEEGHO) 5 EW: 8lfE& B3Ei5(BAC) 1 IMP:| 28 10 2
# 11 AAQ75 2SS-2 100 Mean: 2SS3 140 40 1 [[|# 12 » Q97 2DS-1100 Mean: 2CN4 130 40 1
v KJ876 2NE-1-50 © 2852 110 3.0 1 v Q652 4HW-2-100 © 4HW-2 100 30 3
* T4 Dif: 150 NS:2 1NS1 90 3.0 1 * Dif: 200 NS:3 4HW-1 50 20 1
& 54 IMP: 4 EW:3 2NE-1 50 20 1 & AT9865 IMP: 5 EW:3 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NE-2 -200 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN4 -430 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1-100 20 3NW-1 100 20 1 v KQJ95 2SXE-4 -800 330  3NN5 460 4.0 1
T4 Dif: -100 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: 370 NS:10 3NN4 430 3.0 1
& 87432 IMP: -3 EW:-5 A 00 2 & KJ3 IMP: 9 EW:-3 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 72
E ~22~2 a65 E ~~~~~ & A9854
W ~22~2 W o~~~
# 15 & KQJ9 4HN4 -620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS4 -420 Mean: 4SS6 480 10 5
v A943 4HS5 -650 630  4HN5 650 1.0 1 v J3 4SS6 -480 460 A 00 2
.6 Dif: 30 NS:1 A 00 2 + AQT8 Dif: 60 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 1 EW:0 4HS4 620 00 4 & J542 IMP: 2 EW:1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 3SE3 140 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE4 130 Mean: 4SS5 650 12.0 1
v J32 4SE-1-50 -60  4SW-1 50 30 1 v KT765 5DE5400 -80 5DE-1 50 40 1
¢ 98762 Dif: 190 NS:3  4SE-1 50 30 3 ¢ 764 Dif: -270 NsS:-8 A 00 2
& QT4 IMP: 5 EW:2 A 00 2 & J52 IMP: -7 EW:2 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 -400 Mean: A 00 2 ||# 20 s QJ2 2NN2 -120 Mean: 3SW-3 300 30 1
v KQ6 3NS3 -400 400  3NS3 400 00 8 v T4 2SW-2 -200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 80 NS:1 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP:2 EW:2 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
7 NS: ZHHIE 5REBHGEO) -8 9 NS: #EIEF] 58 R(BAC) 7 VP:| 6.57 13.43| Total VP: 22.96 Rank:
EW: ij,m EREEIC) -7 EW: [R<FR BRiEFR(BO) 8 IMP:| 13 23 5
# 11 AAQ75 2SS3 140 Mean: 2SS3 140 40 1 [[|# 12 » Q97 4HW-2 100 Mean: 2CN4 130 40 1
v KJ876 1NE2-120 o0 2852 110 3.0 1 v Q652 4HW-150 o 4HW-2 100 30 3
* T4 Dif: 260 NS:4 1NS1 90 3.0 1 * Dif: 50 NS:3  4HW-1 50 20 1
& 54 IMP: 6 EW:3 2NE-1 50 20 1 & AT9865 IMP: 2 EW:-2 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NE-1 100 Mean: 3NE-2 200 50 1 ||# 14 aT 6CS-1-50 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1100 20 3NW-1 100 20 1 v KQJ95 3NN5 460 330 3NN5 460 4.0 1
T4 Dif: 0 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: -510 NS:-9 3NN4 430 3.0 1
& 87432 IMP: 0 EW:-2 A 00 2 & KJ3 IMP: -11 EW:-4 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HS4 620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 480 Mean: 4SS6 480 10 5
v A943 4HS4 620 630  4HN5 650 1.0 1 v J3 4SS4420 460 A 00 2
.6 Dif: 0 NS:0 A 00 2 + AQT8 Dif: 60 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:0 4HS4 620 00 4 & J542 IMP: 2 EW:1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 5HXS-3 -500 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE5 -150 Mean: 4SS5 650 12.0 1
v J32 4SXE-1100 -60  4SW-1 50 30 1 v KT765 3DE5-150 -80  5DE-1 50 40 1
¢ 98762 Dif: -600 NS:-10 4SE-1 50 30 3 ¢ 764 Dif: 0 NS:-2 A 00 2
& QT4 IMP: -12 EW:-4 A 00 2 & J52 IMP: 0 EW:2 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 | v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 400 Mean: A 00 2 ||# 20 s QJ2 3SW-3 300 Mean: 3SW-3 300 30 1
v KQ6 3NS3400 400 3NS3 400 00 8 v T4 2SW-2200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 100 NS:3  2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: 3 EW:-1 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
8 NS: (H0)0 10 NS: (FiC) 0 VP:| 10.00 : 10.00| Total VP: 13.61 Rank:
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 8
___
# 11 » AQT75 Mean: 2SS3 140 40 1 ||# 12 » Q97 Mean: 2CN4 130 40 1
v KJ876 0 2882 110 3.0 1 v Q652 0 4HW-2 100 30 3
* T4 Dif: NS:0 1NS1 90 3.0 1 * Dif: NS:0 4HW-1 50 20 1
» 54 IMP: EW:0 2NE-1 50 20 1 & AT9865 IMP: EW:0 3HE-1 50 20 1
# K832 #» J6 A 00 2||aT6 » AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2  -500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
FOVABN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W ~ ~ ~ ~ ~ ~~2~1
# 13 » Q97 Mean: 3NE-2 200 50 1 ||# 14 'S Mean: 2SXE-4 800 10.0 1
v J76 20  3NW-1 100 20 1 v KQJ95 330  3NN5 460 4.0 1
¢ T4 Dif: NS:0 3NE-1 100 20 5 ¢ AT65 Dif: NS:0 3NN4 430 3.0 1
Fy 87432 IMP: EW:0 A 00 2 & KJ3 IMP: EW:0 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -120 1 ||a 3  J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 72
E ~22~2 a65 E ~~~~~ & A9854
W ~22~2 W o~~~
# 15 & KQJ9 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 Mean: 4SS6 480 10 5
v A943 630  4HN5 650 1.0 1 v J3 460 A 00 2
.6 Dif: NS:0 A 00 2 + AQT8 Dif: NS:0 4SS5 450 0.0 1
» KQ98 IMP: EW:0 4HS4 620 00 4 & J542 IMP: EW:0 4sSs4 420 1.0 2
a A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 Mean: 4SXE-1 100 40 1 ||# 18 » K6 Mean: 4SS5 650 12.0 1
v J32 60  4SW-1 50 30 1 v KT765 80  5DE-1 50 40 1
¢ 98762 Dif: NS:0 4SE-1 50 30 3 ¢ 764 Dif: NS:0 A 00 2
& QT4 IMP: EW:0 A 00 2 & J52 IMP: EW:0 4DE5 150 20 2
& JT532 ~ A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 + KQ3 5HXS-3 500 -10.0 1 ||e QJ98 * KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 Mean: A 0.0 2 |[|# 20 s QJ2 Mean: 3SW-3 300 30 1
v KQ6 400  3NS3 400 00 8 v T4 180  2SW-2 200 1.0 3
» QT652 Dif: NS:0 + AQJB7 Dif: NS:0 2SE-2 200 1.0 1
» K63 IMP: EW:0 » J84 IMP: EW:0 A 00 2
» AQJ83 aT72 #» AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
9 NS: FENEA 15 EREHC) 7 7 NS: 2EA3E 3E28A(BIO) -8 VP:| 13.43 : 6.57 | Total VP: 23.43 Rank:
EW: BESF R BEAREE(BHO) 8 EW: 17K EBAE(BAC) -7 IMP:| 23 13 4
___
# 11 » AQ75 2SS3 -140 Mean: 2SS3 140 40 1 [[|# 12 » Q97 4HW-2 -100 Mean: 2CN4 130 40 1
v KJ876 1NE2120 o0 2852 110 3.0 1 v Q652 4HW-1-50 0 4HW-2 100 30 3
* T4 Dif: -260 NS:-3 1NS1 90 3.0 1 * Dif: -50 NS:2 4HW-1 50 20 1
& 54 IMP: -6 EW:-4 2NE-1 50 20 1 & AT9865 IMP: -2 EW:-3 3HE-1 50 20 1
# K832 #» J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2  -500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
FOVABN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W o~~~ ~ ~ ~~2~1
# 13 » Q97 3NE-1-100 Mean: 3NE-2 200 50 1 ||# 14 'S 6CS-150 Mean: 2SXE-4 800 10.0 1
v J76 3NE-1-100 20 3NW-1 100 20 1 v KQJ95 3NN5 -460 330 3NN5 460 4.0 1
T4 Dif: 0 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: 510 NS:4 3NN4 430 3.0 1
Fy 87432 IMP: 0 EW:-2 A 00 2 & KJ3 IMP: 11 EW:9 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -120 1 ||a 3  J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ ¢ AJ62 S 5~~~3 ¢72
E ~22~2 a65 E ~~~~~ & A9854
w ~22~2 W ~~~~~
# 15 & KQJ9 4HS4 -620 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 -480 Mean: 4SS6 480 10 5
v A943 4HS4 -620 630  4HN5 650 1.0 1 v J3 4SS4 -420 460 A 00 2
.6 Dif: 0 NS:0 A 00 2 + AQT8 Dif: -60 NS:-1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:0 4HS4 620 00 4 & J542 IMP: -2 EW:-1 4Ss4 420 1.0 2
a A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 & 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 »KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 5HXS-3 500 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE5 150 Mean: 4SS5 650 12.0 1
v J32 4SXE-1-100 -60  4SW-1 50 30 1 v KT765 3DE5150 -80  5DE-1 50 40 1
¢ 98762 Dif: 600 NS:4 4SE-1 50 30 3 ¢ 764 Dif: 0 NS:-2 A 00 2
& QT4 IMP: 12 EW:10 A 00 2 & J52 IMP: 0 EW:2 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 | v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 -400 Mean: A 00 2 ||# 20 s QJ2 3SW-3 -300 Mean: 3SW-3 300 30 1
v KQ6 3NS3 -400 400  3NS3 400 00 8 v T4 2SW-2 -200 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 100 NS:1  2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: -3 EW:-3 A 00 2
» AQJ83 aT72 #» AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
1 O NS: (BC) 0 8 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: -70.00 Rank:
EW: (BJ0)0 EW: (BiC) 0 IMP:| 0 0 10
___
# 11 » AQT75 A Mean: 2SS3 140 40 1 ||# 12 » Q97 A Mean: 2CN4 130 40 1
v KJ876 A o0 2882 110 3.0 1 v Q652 A o0 4HW-2 100 30 3
* T4 Dif: 0 NS:0 1NS1 90 3.0 1 * Dif: 0 NS:0 4HW-1 50 20 1
& 54 IMP: 0 EW:0 2NE-1 50 20 1 & AT9865 IMP: 0 EW:0 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2  -500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
FOVABN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W ~ ~ ~ ~ ~ ~~2~1
# 13 » Q97 A Mean: 3NE-2 200 50 1 ||# 14 aT A Mean: 2SXE-4 800 10.0 1
v J76 A 20 3NW-1 100 20 1 v KQJ95 A 330 3NN5 460 4.0 1
T4 Dif: 0 NS:0 3NE-1 100 20 5 ¢ AT65 Dif: 0 NS:0 3NN4 430 3.0 1
4.87432 IMP: 0 EW:0 A 00 2 & KJ3 IMP: 0 EW:0 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -120 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 72
E ~22~2 a65 E ~~~~~ & A9854
W ~22~2 W o~~~
# 15 & KQJ9 A Mean: 4HS5 650 1.0 2 ||# 16 4 K32 A Mean: 4SS6 480 10 5
v A943 A 630  4HN5 650 1.0 1 v J3 A 460 A 00 2
.6 Dif: 0 NS:0 A 00 2 + AQT8 Dif: 0 NS:0 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:0 4HS4 620 00 4 & J542 IMP: 0 EW:0 4Ss4 420 1.0 2
a A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 s Q8 A Mean: 4SXE-1 100 40 1 ||# 18 » K6 A Mean: 4SS5 650 12.0 1
v J32 A 60  4SW-1 50 30 1 v KT765 A -80  5DE-1 50 40 1
¢ 98762 Dif: 0 NS:0 4SE-1 50 30 3 ¢ 764 Dif: 0 NS:0 A 00 2
& QT4 IMP: 0 EW:0 A 00 2 & J52 IMP: 0 EW:0 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 A Mean: A 00 2 ||# 20 s QJ2 A Mean: 3SW-3 300 30 1
v KQ6 A 400 3NS3 400 00 8 v T4 A 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: 0 NS:0 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: 0 EW:0 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~




